AL ps 4> . .
T2 Rt EIT . ¥
A @ FEFE BE B
#HH 1~4 1 e
2.| —20v3 30 G5 -11 4.| 4
5.1 (1)20 (2) (—4,10) 6.| (1)-6 2 -1, -2 7.| £8
8.| (B) 9. (© 10(C)(E) 11§ (A)(E) 12{(A)(B)(D)(E)
13/(61,47) 14] 25 (g ,g) 15/4 16/(6,5)
— HIERE (1048 BA& 5 H)
A F

1.IE/NI2F ABCDEF INEE , THWERENRERE ?

(A)AB + BC (B)YAB+ BC+ CD (C)AB + AF

(D)AB — AE (E)AC — AE.,

(A)BAC (B)BAD (C)BA0 (D)BEB (E)BEC -i%(C)
2.d=(3,-4), |p|=8, aSBbM KA AK150°, Ra-b = o

(€ lal=5,a-b=]al- |b|c05150°—5x8><(——)=—20\/_

3.8 0, A, B, C, W&E , EM0A-0C=-20,0B-0C=-5,
PecABBAP:PB=3:2, 0P = x0A +y0B , Bl ¥ (x,y) =
, XoP-0C = o
@ (0P =204 + 0B

@OP - 0C =204~ 0C +20B - 0C == x (=20) + 2 x (=5) = ~11

ax+by=c ¢, b a
4.{1 VO A =3, y=—2, &[T =12, |"

ax + by =c, c, b, a,

- _la; by e by Ay 12 _ B

@ o=\, p| &=|, b ¥=2=3°3 Ba=4

5HAE ,A B, C, DE—MBSENPTHRL , BAPRZMBFTHR
EH,
(1)&AB-AP = 15 , BIAC - AP = o

QBABEAP LW IESIEH (6,-15) , AIADTEAPLWIEST®EA

10-1
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